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PART-1: GENERALENGLISH
Whatmadethepeoplcthmkmeﬂ’mﬁmwmhmmhﬂe? :

. (I} Hebowed toall the people

(2} He walked tothepa]acewmtﬂmmﬂtcﬂmmﬂnmgﬂmhmm

(3) He obeyed the tiger _
(4) Heliked to be the general off the Axmy

Wﬂlyomtzyouthspmbﬂemfmm’?@damm@ﬁhmmmmm))
(1) giving permission - (2) seekimg permission
(3) seekinghelp (4) sugpesfion

Mrs. Slater was a Vigorous womzan with straigfhit talking
What is thcpanofspwcholfﬂnemdmﬂnmdwmﬁ?

(L) (2) Adverb
(3 Preposiuon 4) Adijective

What wastheﬁansfmaﬁmhmmghtbmegmeﬂhmmwmmm?
(E) She taught them to collect wood in the forest.

(2) Sheprovided all the basic needs ffor thvemm.

(3) Shemadethewommfeeilumﬁdiﬂmmmnﬂmuﬂqnmnﬂmt

- (4) Shemvoltvedthemmwmmdmﬂm

What d[dRﬂhagcﬁndmmywhﬁmhemfﬁmdm‘sgmﬂﬂmmpmaMM@ﬂhemﬂpmﬁ

' 4)) hcmccm (2) agpressive approach

)

() Thatred and discomtent -

When Gopal (reach) the temple. it (be) fillied with devotoes,
{1) reached.is | (2) reached, had boen
(3) reach, was (4)  reached, be

Ganesh pIays cricket. He plays chess too.

(Combine the sentences with “not only-but also”)

(1) Ganesh plays not only ericket but also he plays chess.
(2) Ganesh plays not only cricket but chess also.

-

(3) Ganesh plays not m]ly cricket but also dhess.

(4) Ganesh likes cricket mot only, but also he plays chess.
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. Which are the ‘Alliteratives’ among the following.

a) easy-peasy o " b) mish-mash
¢) helter-skelter d) ting-tong

1) (@,®).@ @ ©) (é), @ G)_®) and(d) . (4 (c)and(d)

~ . Why was the young teacher éummohed by Lakshmana Sastry?.

(1) " The young teacher was new to school.

(2) Because he wanted to see the young teacher.

(3) Becausetheyoung teacher tried to poison the minds of children on religious differences.

L (4) Because the young teacher did not have accommodation in the village.

10,

How do we start a letter in ‘ALETTER TOAFRIEND”?

(D) Signature (2) Subscription (3) Salutation (4) Station.a'nd date

11

You keep this money. It may be a help for you. |
(Combine using ‘if’)

(1) Ifyoukeep this money, it may be a help for you.

"(2) - You keep this money, if it may be a help foryou. -
~ (3) Ifyoukeep this money, it may not help you.

(4) Ifyou help me, keep this money.

12.

Where can I get a few stationery items? (Change into Polite request)

(1) Where is the stationery shop? ‘ -

(2) Please give us some, stationery items. - , ‘ :
(3) Could you please let me know where I can get a few stationery items?
(4) Getme a few stationery items. ' ‘

13,

Which of the following have a concluding remarks in creative expression?
(1) Diary entry : ' (2) Aspeech
(3) Conversation ' (4) Alitheabove

14.

Identify the correct sentence. ,

(1) There isn’t enough food for all the invitees. -
(2) There isn’t food enough for all the invitees.
(3) There is food for all the enough invitees.

- (4) There is enough food for all the enough invitees.

15.

In which of the following letters, is the subject specifically mentioned?
(1) Letter to friend (2) Letter to mother

(3) Letter to uncie (4) Complaint letter

V-General English - 4A .



Question Paper
Booklet Code -

16. A biographical sketch is |
(1) the life history of one self,
(2) the life history of others.
(3) the history of greatkings. -
(4) the life history of assassinated personalities.

17. Mrs. Jordanisa . woman. (Choose a right word that fits to Mrs. Jordan’s character)

(1) complacent (2) greedy . (3) mildandsober (4) (1)and(2)
18.  Whatwas the threat to Sunday Nana’s village? :
(1) children and chickens - (2) poisonous chemical drums
- (3) skull and cross bones : (4) the chief

19. Which of the sentences given below is defining relative clause?
(1y - 7T oy, who could not geta job, felt depressed.

(2) Theman who was selling balloons was very old and weak.
(3) Rajani who lives next door, is a TV artist. -

(4)  Who is the world famous artist?

20. Identify the sentence that is in Present Perfect tense.
(1) Rupahas passed the test recently. |
@) They had changed the residence address.
(3)  Gowri delivered a wonderful speech.
(4) Children are making noise in the class.

Question No. 21 to 25 : Read the following passage and answer the questions. |

There was a small village called Sonam. There was a young girl named Ema. Ema loved to
explore the meadows and woods around her home. Everyday, she would discover new and exciting
things in nature. ' ' )

One Sunny morning, while Ema was wandering near a stream, she spotted a glimmering
stone. It was unlike any stone she had'seen before, and it filled her with wonder, She decided to
show it to her grandparents who were wise and know about precious gems.

ToEma’s surprise, his grandparents revealed that the stone was a rare and valuable gemstone
called a sapphire. Ema’s heart was filled with joy, and she learned that sometimes, the most
precious treasures can be found in the simplest places.

21. 'What did Ema discover while wandering near a stream?
(1) a village ; (2) meadows
(3) nature . (4) glimmering stone
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23 Who revealed the identity of the glimmering stone to Ema? ;

(1) gramdparents (2) pacnts (3) ncighbours () friends

(1) ~Asapphire ~ (2) Apeal () Ascashell {3 Apebble -
24, ‘What did e grandpercuts reveal about the stone?

(1) Itwasarare stone. ' () Hwasavalusblesione.

(3} Twasagemstone. o (4) Alltheabove. ‘
25. 'Which word im the passage means ‘to disclose™ .

(1) reveal @ oy (@) treasure. - (4) precious

26.

What does Lincol’s life teach us in the lesson

“Ewery success story is also a sﬂmﬁy of failres” .

(1) Sm@w&mnmlbeadmxweﬁlmﬂymﬁl

(2 o smeceed in life is very difficult.

(3) Arelentless hard work cam oive STICTESS.
“) Failure is not a stepping sione 0 STCCESS.

27.

' wmmmmgwwﬁmmkowmgmmmw -

(1) Ymsﬂmn]!dlmﬂwwﬁncﬂhmﬁwﬂnﬂl@dhwmg.

2) You should comsult a doctor for your illl ealth.
(3) Cmmct@mmypﬂammﬁ"mmﬁmﬁammmﬁ. :

@) Weshould go toschool late, shouldm™t we?

28.

The crops giew welll this year. We are happy with profits.
(Combine the semences using, *simee ™)

(1) ~ Simcewe are: haypypry wiith proiits;, ﬂb@m@p&ﬂﬁ]msym gmwwell
(2) Since the crops: grew well this year, we are bappy with proﬁts
(3) Themp&smmmﬁhuwmgmwwcﬂﬂ,whmhawyﬁhnsyear
{4y Thcmp&ﬁﬁm&ngnmfwcﬂﬂ,wemhww simee with profits.

29.

4 qrm sorry, ] cammot go with you”. (Idemtify u}incmcpﬁm&mm))
(1) Seekingpenmission (2) Reﬁmmgpemnssmu
(3) Expressing mability (4) Expressing fear

V-General Englisk ' ) A
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30. Why did the house wife in the lesson * What is My Name’ forget hér name?

(1) Because she made scrubbing and swabbing as the chiefmission in her life.
(2) Because she became busy with her office work.

" (3) Because she lost her memory,

(4) Because her husband didn’t like her name.

31. A manwho loves mankind is
(1) Superman
(3) Physicist

(2) Philanthropist
(4) Fatalist

32, ~ Fill in the blank with an indefinite pronoun.
__is perfect in this world.
" (1) She
"(3) Muyself

(2) Noone .

33. Change the Voice.
Guru started a new business.

(1) Anew business was started by Guru. -

(4) He

(2) A new business has been started by Guru.

(3) Guru’s new business was started.

(4). Anew business is being started by Guru.

34. Use the right Prepositional Phrases.

(1) Inspite of
(3) Incaseof

bus strike, I will drop my trip to Mysore.

(2) Instead of
(4) According to

35. Ray was an aloofand intimidating person for the outsiders.

(Identify the synonym of the underlined)
(1) frightening -
(3) intolerate

(2) encouraging. -
(4) intellectual

- 36, Inthe poem ‘A plea for India’, what was the central theme?

(1)  Unending violence
(3) Proudand Confident |

(2) Riots
(4)  Unity

V-General English 7-A
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37. He__ - (give) an entrance test before he (join) Air force. -
(1) hadgive,entered. - ‘ (2) gave,enter '

(3) hadgiven,entered (4 givenandentered

38. Savitri was awarded the title ‘Mahanati’ for her
(1) good number of movies .
. (2) for her successful direction
(3) for her humanity and generosity
(4). for her unbeatable talent |

"39. What was the father’s urge t& his son in ‘Once Upon A Time’?
(1) _ Father wants to shake hands with friends.

(2). " Father wants to relearn how to laugh.

(3) Father wants to change faces accordmg to the 31tuat1on
(4) None of the above.

40, Whlch is NOT a correct statement about Abel Metry weather? _
(1) Abel Merry weather stayed some days with Amelia and a part of time with Elizabeth.
" (2) Abel Merry weather announced his marriage with John Shorrocks. .
'(3) Abel Merry weather was dead.
(4) Abel Merry weather wanted to change his will.

41. Veenais fond music.

(1) to @ of . () by - (4) with
42. Iheven’t‘gof ' apples in my basket. , . .
(1) some (2) each : (3) any - (4) every

43. The Government has declared emergency. (Changethe voice)
(1) Emergency has been declared by the Government.
(2) Emergency is declared by the Government.
(3) Emergency is being declared by the Government. -
(4) Emergency was declared by the Government. '

V-General English . o 8-A
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44. Some of the students scored low marks in the Exams; , the teacher arranged a
series of remedial classes. _ . -
(1) sothat ' (2) - because ,
. (3) in spite of (4) consequently
45. “Who inflienced Kalam in his childhood that changed his future?
- (1) 'Ramanatha Sastry (2) SivaSubramanialyer -
(3) Young teacher ' (4) Kalam’s father
46. Narayana Murthy was by nature. _
(1) selfish (2) malicious
(3) introvert (4). timid
47, What does the poet wish to convey through the poem ‘Or Will the Dreamer Wake?’
(1) the desire to wake up the human being.
(2) the people’s reluctance towards the protecuon of animal world.
(3) the need to stop the extinction of animals.
(4) allthe above
48. What stopped the narrator from carrying his luggage?
(1). the narrators education '
. (2) the narrators white collar job
(3) thenarrators laziness
(4) ()and(2)
49. What is the one-word substltute for ‘A hand wr1tten document’?
(1)  manuscript | (2) mandacs
(3) newsitem . (4) monologue
50. The accident sadly resulted ‘ ~_the death of a man.

(1) by - (2) to

(3) in | : (4) into

V-General English : 9-A
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PART - 11 : MATHEMATICS

. o . {2 A
51. The solution of the equation log (log(: )J =01is -

2 o
log, (log(: )]=o o HMECwo B, TS

1) =1 (@ x=%2 @) x=4 @) x=%7
52. Iflogx*y* =a and lo‘g,E = b then logx _
SR -y log y
logx®y? =a %8050 logX =b woxd logx _
ST T ey
1 T a-3b . o 2 a‘+3b
By - Y
5 a+2b o 42
G) a—2b @) a+3b
53.  Which of the following is an irrational number?
Bod TAS® VO E5eBc% Somg?
7Y I | |
My = ‘@) 233 @) n 4) 3.1416

54, Ifp=2x4x6x..x20and Q=1%x3x5x... 19 then the HCF of P and Q is
| p=2x4x6x...x2058050 Q=1x3x5x...x19 ©ond P o Qo K.arar.

(1) 5.7 2 35 3) 3*.52.7 @y 3.5

55. Which of the following is true, if A = {1, 2, {3, 4}, {5}}?
A={1,2, (3,4}, {5}} wond §ob TdS* DB HEg0?
(1) {3,4}cA @) 3eA
3) nA)=5 4) {S}eA

V-Maths - 10-A
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36. Match the following.
808 DD =EBH D0,

p  A-(BUC) )
9 (A-B)N(A—C) b
r) A—(BﬂC) c)
9 (A-B)U(A-0) )
(1) poaq-brocs—ad ‘(2)‘ p—)a,q—)b,r—)d,s—)c
(3) p—oc,q>croas—oa 4 p—oaq-odroes—b

57. Statement]: ‘A={x:erandx<5}isaﬁlﬁteset.

StatementII: B= {x:xe N and x <1} is a null set.

Choose the correct answer. i
(1) Tand I both are true. . (2) Iand Il both are false.

(3) Iistrue, IIis false. . (4) lis false, IT is true
®38%oI:  A={x:xeZ S0t x<5} ¥ 5608 5.

@5380 I:  B={x:xeN Soate x<B ¢ #PiSg B8,

VBES IJrprR) ISF oS0, .

(1) 10850 I exBody SEco (2) 15080850 IIen Bodo wdEg0
(3) Id&g0, T 8550 (4) Ted&go, I D50

V—.Maﬂls ) I1-A
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58, Ifn(A)=15,n(B)=13 and n(AﬂB) 10 then n[(AUB)-(ANB)]="

n(A)-—lS n(B)=13 ;.soaofm n(AnB) 10 ®o0d n[ (AUB) (AﬂB)]—_;_;

(1) 18 2) 12

3)

10 - " (4) 8

- If , B are the zeroes ofthe polynom1a1 p(x)=x+3x— 4 Then find a quadrat1c polynomlal -

whose zeroes are o and p.

px) =22+ 3x ~ 4 05 TR ‘c‘oocfzo %r&rge:o a, p oo @oooé a?, B o Féra‘geom KORS

0.8 3¢ aamm&s&) ééaﬁ":ﬁa;’m

(1) 2%-4x+7  (2) % ~3x+7

(3)

x 2175416 (4) 2—16x+17

60. Ifa,f,y are the zeroes of ax3 + bx? + ¢ex + d. Then match the followmg
o, B,y oo ax’+ bx? + cx+d & r‘é:"ar"ge)cmé 8od D 28 HE BN,

P TrEto=

<)) a_2+ﬂ2+y2 =.

111
P gttt
off fr ra
| 111, )
S S By

(1) po>bg—>dr—>cs—a
(3) p>c,q—rar—>ds—b

. c)

. o

(2)
(4)

p—4, q—+b T, s—>d
p—~>d,qg—>cr—>4a s—b

61. Ifone of the zeroes of x* + ax* + bx + c is—1 then the product of other two zeroes may be.

3+ axt+ bx+ c‘@?ﬂ eaimi.’aa BooEy, &8 r?bveﬁgo -1 @oaaé 20008 ok %r;f*go ©YQO o)o:éf

et vdsrdo woh?

(1) b-a+l @) b-a-1

3).

a-b+1 4) a-b-1

2. - If the sum of the roots of the equation 1
- x+

roots of the equation.

1 1 1
..|_
x+a x+b ¢

Sorere 0o

(1) 5

2
a’+b* (a

4-

x+b ¢

3)

L = l is zero, then the product of thfj,_ _ '

— & coboédsao d”méb Sorere Jongo 0’ wond, 8 HECHO cﬁwézr :

@ (@)
; @

V-Maths -
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63. For what value of &, do the equations 3(k 1) x+4y= 24 and 15x +20y = 8(k+ 13) have
infinite solutions? -
k B0y D DS 3k~ 1) x + Ay = 24 55865 15x +20y = 8(k + 13) o0& Sdogseren
viod FESen E0A Golron? ' :
() 1 (2) 2 G 3 ) 4
64. Ifan ordered pair satlsfymg the equations 2x 3y 18 and 4x —y = 16 alSo satisfies the
equation 5x — py — 23 = 0 then the value of ‘p _ .
2x~3y =18 %8050 4x~y =16 o S)R DB o8 Eooturo Sx—py—23 =05 Sra
&) B, P’ oS - ‘ a
(1 1 ' (2) 2 (3 -l - (4) =2
65. Value of “x’ from the equations 2+ =27 = /33
2 =27 =32 i $hossere $06 X deod
: 5 1 3
1) 0 @5 e @ 3
66.  Assertion: The pair of equations y = 0 and ¥ =-8 has no common solution.

Reason: " Theliney=mx, (me R} is passing through the origin.
Now, choose the correct answer. -
(1) Both Assertion and Reason are true and Reason supports the Assertion.

(2) Both Assertion and Reason are true, but Reason does not supports the Assertlon.
(3) Assertion is true, but Reason is false.

- (4) Assertion is false, but Reason is true.

BEOS 1 y= 0508050 Y =8 e 8D 8o 2ds S50)B FESE SOk,
w8001y =mx, (me]R) ©d codefém Soredoihd How Fsobd.

aoajéo BBGS JSSrerarR) J)FSoSw. ‘ _

(1) B80S, sdwo Bodr D& Hobo%n (HELSL, S0 288808,

(_2) W8S, 5°Cwo Bodr J8gdD, 5 s*Ewo, @ééoiésﬁo aéogoz.‘.icso

(3) ©EL3 Jv8g0, 7 5 Cmo ©d¥g0.

(4) B80S wddg50, 5 smo dego.

V-Maths _ . 13-A



Question Paper

Booklet Code

IfA = tan21°- tan19°, B =2 cot71°- cot69° then

. 68.

6o

| 67.
A =tan21°- tan19°, B =2 cot71°- cot69° esaxnd ‘ g
(1) 2A=B (@) 2A=3B - (@) A=2B ' (4) A=B
sin & = 0.908 => cos (90 - 6) = | |
(1) 0.908 (2) 0.092 _ (3) 39.092 4 1
If x =2sin® 6,y = 2cos” §-+1 then which of the following s true? -
J_c=23in2 g,y =2cos> 0+1 wond §od IS 28 éégo? ,
1) x-y=1 (2) x+y=2 (3) x+y=3 (4) 2+y*=3
; — ‘ : A
70. If \/—74+\/87~!—l6.cosec46'+si114 8 = A cosec +Bsiné then the value of—§*=
(here 0° < 0<90°). |
J- —— LA
. —4-+J§+16cosec. 0 +sin* @ = A cosecO+Bsinf o8 B Joad =
(aegyeo 0° < §<90°). - | |
1 -t (2) 2 (3) 2 @ 1
7L cos? 2°+cosz4°+c0526°3r..-,+c05290°= - :
(1) 23 | 2) 22 3 1 N G
P
72. Ifcosa =3 and smﬂ=5 then the value of a + =
(0° < <90°,0° <P <90°)
cosa=%';’naod:a sinﬂz—%@omé a+f= | )
(0° < £90°,0° < B <90°%)
(1) 60° - (2) 90° (3) 45° (4) 30°
73. Ifx;“l—cosé’ then 2x =
l+cos@ - 1-—x?
l—cos® 2x
x= w008 =
1+cosd 1-x2
(1) sinf (2) cosf (3) cotd (4) tanf

V-Maths 14-A
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74. Solve x = 7 11 ix#2
2- i
2=
-X
x=—-—1T-—;x¢2 5 PRotHI.
T, 1
2
. 2-x : . .
(1) 4 2) -3 €)) @ 1
75. Ifsina and cosoare the roots of the equation ax? + bx + ¢ = Othen b=

ax? + bx + ¢ = 0 0% $D086m Saweren sino, coso wond@ H? =

(1) 2+2ac (2 dtac () &*+2ac  (4) A+ac

76. Find the quadratic equation, ifx=\/5+\/5+\/5+...oo andxisareélnumber.
X 2§ meéa’)‘oospg B0B%n x= \/5+\/5+\/5+ 20 wond 8IS el S5¢BDogsmo -
EdomrSodw. :
(1) x*-x-5=0 o 2) xex-5=0"
- (3) 'x2—x+5=0' (4) x*+x+5=0
77. The values of ‘&’ for which the roots of quadratic equation x? + 4x + k = 0 are real.
P+ k=0 o8 SESDEGwo Sareres TETer ©ond b Denden
(1) k>4 (2) k<4 (3) kx2—4 (4) k<-4
78. Thepole of 9 m high casts a shadow 3+/3 m long on the ground, then the Sun’s elevation is
9. GRS o Bows Jop W3 . Faro 6 HHEDS 06 BrwgSt Baky
{ﬁagsgseao '
A1) 60° (2) 45° (3) 30° | 4y 90°
79. How many multiples of 5 are there in between 33 and 3722

335008050 372 @ 50(55 5 o), Hosdegren Q) oI a0?

(1) 66 (2) 63 (3) 68 4) 67

V-Maths 15-A




Question Paper
Booklet Code (.

.. One of the values of wh1ch satISﬁes the equatlon A ’ - ’ == (Where x#3

80
andx=0). . o -
32x — @:63 aﬁ)aédea‘&h e 0365 ‘x’ o':baéb 28 &')u:s’a (alﬁt)éa x#3,x# 0).
: Q x \}
O R S N O N B I, !
81, Findthesumoftheseries : |
& @3 @g, Ingo Jod?
' 1+(1+2)+(1+2+3)+(1+2+3+4)+ +(1+2+3+..+20)
(1) 1470 @) 1540 - (3) 1610 - (4 1370
82, If 1+3+5+... upto n te1S _ g yyen the value of ‘n’ is
2+ 5+8+...upto 8 terms : ,
1+3+5f...naw°g3 NEH ~9 wowd ‘u Ded
2+5+8+..8000 8% S ,
(1) 30 2) 28 @) 25 @ 3
- - 1 1 »
83. Ifthe m™ term of an A.P. is " and n'" term is - then the (mn)® term is
2.8 ©o¥@EGS’ md Hdo e ns Hdo ~ wod (mn) § Do _
| . 11 | o
1) 0 ) 1 (@) —+= . (4) EHm+n)
84. Find the slope of the linejbining the points (logg,llogg ) and (logz ,10g ) ‘
| (logg,logf) SoB0%0 (1og2 Jlog} ) v DoKPOR S0 é&@‘ém 3§, T
(1) log2 @ 1 3) 2 @ o
85_'_. - Find the length of the Jongest side of the triang'le formed by the line 3x + 4y = 12 with the

co-ordinate axes.
3x + 4y = 12 S08050 JsrHsFod o)cS‘DE:'% Behe2oS* 08 g e;iaazo 8D Dod?
(1) 9 _ . (2) 16 3) .5 (4) 7

V-Maths - 16-A
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86. If(2, 4) is the mid-point of the line-segment joining (6, 3) and (g, 5) then the value of g
is : _ . -
(6, 3) %2805 (g, 5) 0% gend dgrpodo S0ty HotoH (2, 4) wond a =
M2 @ 4 G) 4 4

87.. InAABC, MN // BC, the area of quadrllateral MBCN =130 sq.cm. IfAN : NC =4:5 then
the area 6f AMAN is sq.cm.

AABCES‘ MN //BC. MBCN e ﬁe‘éadaq)a Be‘ogo = 130ﬁ 20.20. AN :NC =4: 5 wond
AMAN 3zego ' $.720.20.

_ - B ‘ C _
() 32 - (2) 45 (3) 36 _ (4) 39

88. InAABC,if £B=90° BDis altitude on AC andAB ¢, BC=a,AC=5,BD =pthen
AABCes* /B= 90° AC f:chéa ARS ﬁ:&j& BD %8650 AB=¢,BC = a,AC 5,BD =p wond

A
.
c D
P
B a C
11 111

(1) p2 at 2) p_a b
3 ._1'_—_1.+i.. ) _=_1_+_1__
O Z=7ty @ PTa

V-Maths - 17-A



‘Question Paper |
o Booklet Code

89.

Ifthe ratio of the corresponding medians of two similar triangles is 2:3 and the area of the
smaller triangle is 48 cm?, then find the area of the larger triangle. -

S (1) 108em? () T2em® . . (3) 96 cm? (4) 144 cm?-
Dot BErH @FbEre S8y HEgis dpo 28 2:3 Hobasn ES' D) Beno

S, FTogo 43 %$.3200.80. wond g BPa JTOF0 E50f 0500, ,
(1) 108 $»o.20. (2) T28%od. () 06 3500, (4) 144 $0..

90.

From a point ‘P’ which is at a distance of 5 cm from the centre ‘O’ of a circle of radius
3 ¢m, the pair of tangents PA and PB drawn to the circle. Then the area of the quadrilateral
PAOB is cm?. ' S B |
_3_"‘09;31). agrgorr, ‘O’ 'éo@ibn" Ko $yZR8 o) ﬁo@o 'éoqc‘_:‘e 5 0.0, drdoesst o
g oo P’ %008 PA So8cs0 PB od Sy¢dpes BoHnASD Bvond ot JBBS
PAOB ©3 ﬁéocﬁoe)@o' Qé‘ugo , %.200.20. ' ' '

B

() 12 @ 20 B 15 @) 25

91.

In the figure, PA and PB are tangents of a circle with centre ‘O’ from a point ‘P’ and
/APB =60°. What is the value of ZAOB? ‘ : -

%830 008 ‘O’ Soorr Ko HFOS ‘P* Sa0d AcSadS dfdpwd PA,PB ZAPB = 60°
wond ZAOB=7 - -
A

0O | 60 b

1) 90° @ e . () 1200 4) 60°
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92,

Ifthe sides of a right triangle are x, 3x + 3 and 3x + 4 then the value of x is
x, 3% + 3 3508c%0 3x+4 e 2.5 wonfom Bahadon @Boog) eharen Bons, x Dend
) 9 - @ 8 @) 7 “) 6
93.  Five cubes, each of edge 2 cm, are joined end to end. What is the total surface area of the
resulting cuboid in cm?? | ' 7 |
®oiH 2 Do, ™ Ko 3 S%doarese 2L.ETREES DS Jond o880t} ¥ &gcﬁa:‘éom
S8 o JBodrgse JTOF0 H. 0.0, ©S° Joe? )
(1) 88 () 40 (3) 60 @) 56
~ 94. Acone ofheight 24 cm and base radius 6 cm is made up of modellihg clay. A child reshapes
~ itinthe form of a sphere. Find the radius of the sphere.
{1) 8cm ' (2) 6cm
(3) 9cem ' (4) 12cm
SrEOOf T 2KS 24 200.20. Jey KoB050 g TEE0 6 0.0, woBtatn ¥ FoHH
<é§co‘63°5360‘6323599&. 2.8 AT TA ErYPSr) Mo Ir8)ord. ®ond oo T
Jo$? o
(1) 8ot ' (2) 6 o.5n.
{3) 9no.s. ‘ (4 1202,
95. All face cards aic removed from a deck of cards of 52 and one card is taken randomly from .
~ remaining cards. What is the probability of getting a black ace?
52 Enfen Ko o8 BE Ky 08 B SoPSGHer ForoTHAS. Jnds T ol
SErEETOr 28 Rhd ) 08 Sed IS whHek He BogrSgd Jod? -
{1y o 2 L 3 < 4 | L
96.  The probability of an event °E’ is a number such that

28 o ‘B’ Sy, SourSss & Do Sonod,
(1) 0<PE)<1. (2) 0<PE)<I
3) 0<PE)<1 _ ' (4) 0<PE)<I
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917. If a number “x” is chosen randomly from the numbers 1,2, 3, 4 and another number y” is
. selected randomly from the numbers 1,4, 9, 16. Then match the probabilities of the
following. o L S - , .
1,2,3, 4o dowgo S00d SSrdipsor ¥ & Somgs, 1,4;9, 16 @ Sopge &0d
oﬁrd;%’t)éorv 4y’ &93_{:05}3@260 RESISRIN Bod T8 dozrdgsen 23 H 0. '

. | I
P Pay<l)= o ) 5
o Pw<hs D i
B
r) POy<9)= - o =
s) Plxy<16)= . : - d 0
Now, choose the correct answer. o
iyt HOES DEPETR) ISYT BB, | |
(1) p-—)a’,q'—)b,r-—)c,s—)dl (2) p—~>d,g>cr—>bs—a
(3) ._p—->a,q——>b,r—+d;s'——>c , ) 4) p—)c,q—>d,‘r—>a,s—->b : -
08, The total surface area of a solid hemisphere is 1087 ¢m?2. The volume of thie hemisphereis
cm’.. o o . |
08 wgfido Eng, doirgse Freg 1087 $8200.00. @008 T SBBEFBO .
Ho.Do.. ' : _ ‘ o
) wam @ 46 @) T2n (4) 1086

. N 1 ) :
99. Ifthe mear ofx and < is M, then the mean of x* and a7

x 58050 1 o HEen M wond x° $0B05 13- o dHfdn =
x X
2

2
100. The mean and median of the data g, b and ¢ are reépectively 50 and 35, wherea<b <c.If
c—c_z=55,thenb—a= . : L
L<bh<c abmoose co woshiEgHbn $H00%0 SxgrEsnes SEHIT 30 $0050
35, c—a=550008 b—a= . . |
o 8 . 2 7 - 3 3 4) 3

Oy M - (@) M3 L (3) M@M2-3). (4)
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PART-III : SOCIALSTUDIES

101. Barren and Narkondém volcanoes aré found in this country

(1) India (2) Indonesia

(3) Italy (4) Ivory Coast

208, FEyobo &I @Qlédogé‘e» & Bdoes* g0

(1) =o8os>e . ' (2) 208°3ncsr

" (3) awd | (4) 25685

102, “Terai’is a : , : o

(D Swampy area - (2) AnAnimal name

(3) Historical place (4) Anancient fossil

‘Boron’ 038 o ;

(1) D¢a Pogdn (2) &8 2oy B

(3) =ogE BB¥Sn | (4) 2% @5S 3ermo

- 103. The coastline of Goa State is known by this namé S

(1) Koramandal - (2) Malabar (3) Konkan (4) Canara
T og 88@road) & Hos* beodnh, -
(1) 857088 (2) Sowers (3) Soss  (4) 3s0r

'104. Which among the following Statements is/ are true regarding ) dévelopment’ ?
i)  Different persons can have different developmental goals,
ii) Developmient for one may not be development for the other.
(1) (i) only (2) (ii) only
(3) () and (ii) o (4) None of the two
‘e—sﬁ)aﬁag’g Sowofod §od TEgOS I8 LIRS ‘
i) 36563 Sgseeso 36563 @@5@% OFE0 HOEDS).
i) 2508 V5B wosH 65568 DD TEFBK.

(1) @) o @) @) srgd
3) @ $8aso ().~ . (4 P BoBBST Dowsy

105. This is not applicable to primary sector : .
(1) Mining (2) Fisheries (3) - Forestry (4) Banking
S8 Somds 580398 - |
() fdo 8o (2) Hodggsoss  (3) wages (4) ergo8oR
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106. Identify the State which does not befong to Tungabhadra tiver basin. o
- (1) Kamataka (2) Maharashtra ~ (3) Telangana (4} AndhraPradesh
oK $& HoTEE (Frodost o000 B ok #o8oSod. | '

(1) Somes Q) SEcg Q) svorn (B @O BEs
107. ‘A movement against the construction of S ardar Sarovar Dam.
(1) Chipkomovement . (2) Meira paibi moventent
(3) NarmadaBachavo movement - (4) Greenpeace movenent '
536 9856 wgo doyds Sg@dLom BIGS adgso
(1) o, wégo 2) Fo-pd Gdgho
(3) SEE wwS wgio (4) ASHS g0
108. This country is a great example of the ideology of ‘Fascism’.
(1) England . (2) Ttaly . (3) Russia (4) France
o’ @ bos wimerds & Bio o FY) ST B
(1) moges () =mwd (3) &g SN

109. Find out the wrongly matched pair.
(1) Suvarnabhoomi Tnternational Airport - China
(2) ~ Cairo International Airport - Egypt

(3) Heathrow International Airport - England | |
(4) Indira Gandhi International Airport - New Delhi

SJ9m 285508 T Hfosod.

(1) %035g 40D vodgeh DirTFao - B
(2)° 36 wodghah dirTFARo - S2F

(3) rigr wodgdok ddrrFedo - zomo&

(4) .moBTmod ©odg8H ISrIFoRo - 5rgdd

110. Birth place of River Krishna . :
(1), AmarKantak - (2) NandiDurgaHills

(3) Mahadeo Hills . " (4) Mahabaleswaramt
S B3I, aiﬁg@;é;ﬂn '

(1) ©555008 (2) 0B &y Sodes
(3) HHTBS Foden (4) Sosradigso
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111. A) Census éollection is conducted once in 10 years.

B)  The first Census in our country was conducted in 1881.

Choose the correct answer from the above information.
(1} (A)and (B) correct (2) (A)and (B) incorrect

(3) (A) is correct (B) is incorrect (4) (A) is incorrect (B) is correct
A =T B o DESs 10 cooa’)e:i)c"e.)& aEF8 WHEa .

B) Xox8%0es? ?&:oéo?mdéS SRSy BEH o ESe 1881 5° 28808,

b 95"&:6@&’9‘6 Ldrordo So0d I8 (o&vqs“ma’)al D008 04,

(1) (A) 308050 (B) $BHD (2) (A) S0805» (B) %659

(3) (A) 386 (B) %0575 o (4) (A)SoseeH (B) ST htal

112. Article 356 refers to

(1) Emergency - | (2) President’s rule

(3) Teaching in mother tongue (4) Financial constraints

BR85S 356 B HrdR08.

(1) esgss0 9038 @) ogse dos

(3) Srarac §'s (4 eBE 5638 wogen
113. He described the 20th century as an “age of cxiremes”.

(1) JM.Keynes _ - (2) Hitler

(3) Lenin . (4) Eric Hobsbawm

205 %e:é‘.aagaol ‘B JoveTe Ko’ @ wgarg:’()oi)éé:rd)

1) IMES 2) 6

(3) 335 : (4) 268 HpS

114. The troplc of cancer does not pass through this State in India.

(1) Meghalaya .(2) Rajasthan
(3) MadhyaPradesh (4) Tiipura
FEEBI0S® £ 48w & TFo Mow BakrBo.

(1) Sdrech | 2) oS
(3) Sesgds @) ews
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‘Chinab’ is a tributary of this river. '

115. R N
| (1) Ganga (2) Godavari ' (3) Sindhu ~ -(4) Krishna
‘DTS & B0 G0k, SHIO o o
“ (1) Hor 2) Fesd 3) Bod . (4 &x
116. Western disturbances come from : - , :
(1 Red Sea o o (2) Mediterranean Sea
'(3) ArabianSea - ' . (4) Bay ofBengal
95 AFere0 B Hod b@‘oaa o S
(1) 28 ds0o Q) Sadgso ssgo
(3) wddosr ddoGo (4) womrerardsn
117. Nigeria got independence from this country. o | |
(1) France (2) Russia (3) Germany (4) Britain
340csr & B¥o Hod FgEoBgo FoBSB. : o
O e @ sarg. | _(3). 2 - (4) @S
118. Which among the following is/are not frue. ,
i)  The constitution of India was drafted and approved by the Parhament in 1947.
i) 93 people were elected from the provinces to the Constitution Assembly.
(1) (@)only (2) (ii) only
- (3) ()and (D) : . (4) (i) is true (ii) is false
Eob TSt DB/DD wHSgHN | o
1) edd wwgom&g FgBo0s 1947 S* Errodod) 8RTHONI.
ii) orargordef SogIre Eéoo&‘o 93 ook D&)ﬁoﬁrgds
(1) @) s - @) @) &red
(3) (i) Hobcsw (ii) ' @ @ Hgsn (if) SREIEA
- 119.

Who among the following' Indian National Leaders wrote a letter to Hitler to prevent the |
War? R _ .
(1) Tawaharlal Nehru : (2) Gandhiji

(3) Sardar Vallabhbhai Patel (4) Ambedkar
aswgo dITBoTed IriyEs wgdo TS Ed BT 00BN
(1) =2356oS I (2) o
(3) 36 SuFerd® HBS (4) ©oB&),E
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120. The first general elections in Independent India were held in this year.
B0 rESBFoS® 00cses TEUBE AT & DoSG)os® 2dmow.

(1) 1948 (2) 1949 (3) 1952 . (4) 1961
121. 8.E.Z. stands for _
(I) Special Education Zone (2) Special Economic Zone
(3) Special Electronic Zone - (4) Special Employment Zone
S.E.Z. o3 ‘ -
(1) @dgs g So0s® Q) ©BgE eps S060
(3) B3g¢ doTds Ko0sd L (4 B3gE ey S0
- 122. Find out the wrongly matched pair.
(1) Kenya-Masai - (2) South America - Gowcho
(3) Tibet-Kiyong o (4) Kazakhstan - Bushman
ST BEIEHS TR 800 |
- (1) 3&g - Sodrow : (2) S oFbsr - T
(3) &3S - 850l C (4) =8>S - oS
123. Recommended food intake per day in rural areas in India according to nutritionists is
(1) 2400 kilo calories - (2) 3400 kilo calories
(3) 4400 kilo calories (4) 5400 kilo calories

FIRELE DYoo HEE0 USRS e (Fosrod® Bhtes B8 558 Sawso
BB S0DS eSsdo.

(1) 2400 8° Sobex . (2) 3400 &5° Feben
(3) 4400 &&* Soben T (4) 5400 §6° Foboo

124. This organisat_ioﬁ prepares the Human Development Report. |
SrdS 09I AIBEH & S0y Krrodiy0s. |
(1) WTO. . (2) IMF (3) UNDP. = 4 WH.O.

125. Literacy percentage of India in 1947
' 1947 &° orosads ovfoigae TS0 . |
(1) 18% () 16% (3) 12% 4) 14%
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126. Which of the following cities was the Vchue for the ﬁrét conference of the non—éligned

movcment‘? _ ‘ .

(1) Deli - (2) Belgrade  (3) Bandung - (4) Cairo
wbFBgi0 InGH HITITIE I08T 20DS K0 R
(1) &8 ) aaesms . (3) wokol (4) 36

127. Who among the following setup: an organisation called Centre for Scien_ée and Fnvironment
- to study environmental issues in 19807 '

(1) SumithAgarwal S (2) KishanSingh

(3) Rajkumar Shukla (4)  AnilAgarwal -

1980 & Horgite GoTeR ©EgHRS0 Bakobss depiTPo B0 HTegs e oo
o Bogd domyew WRSTH. S | o

(1) %28 oicgs C - (2) 84S DofR

(3) oTEHIrs OF | (4) oIS siogS _ i
~ 128. Head of the State Legal Serv1ce Authority . '
(1) Chief Minister (2) Chief Justice of the High Court
(3) Home Minister (4) Chief Justice of the Supreme Court
og Tyehlo oY $of ©BI8 '
(1) -Boopgdoo@ o @) g"g"dg DS TegoRdsTd,
(3) Fowg Ho@ ‘ (4) Do@os'E Bed mgoﬁaéaoﬂa

*129. A metropolitan city is
(1) A c1ty with a population of over one crore.
(2) A city with a population between one lakh and ten lakhs.
'(3) Acity witha population between ten lakhs to one crore.
(4) Acity with a population of over 50 lakhs to 80 lakhs.

: 30@5‘3"@)&05 S0 @3B -
(1) &8 2o Do &) S8o
(2) o8 of Hodasw 10 oo Sofy I ad) dKdo
(3) Ddofws Hbdosn 1 §°¢8 Sogsg e &) Snido
(4) 50 oo 398050 80 vfw Sy BT ) $K60
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I30. The Emigration Act of India was passed in the year.
PESBEY Sose Hho TS SoSHHKo

(1) 1983 2) 1993 ° (3) 2003 (4) 2013
I31. He was not 2 member of the States Reorganization Commission setup in 953.
(1} FazalAli (2) K.M.Panikkar |
(3) HN.Kunzru . (4) C.Rajagopalachari
- 1953 &° Jomyen WS c‘@«e 33 ;Sgé%ﬁfea S0B0065° Jehgdd SRS
{I} d=S «d (2) KM. 238,06
(3) H.N.&ope~ . Ny 4) C. caf oot
132. Prime Munster who adopted liberal economic pohcles in 1991 when India faced a Severe
. Financial Crisis.
(Iy VP.Singh R . (2) Vajpayec
(3) Chandrasekhar (4) PV.NarasimhaRao :
PESBFo 1991 &° &% 9% aog‘aﬂ'&h 36535‘&:61&363 od@éae‘é eaaéé)cs"a“@édm @500@0&}2&
RerdSoo@.
(1) D%. 20h | (2) oFoow
() Sosips o (4) PV.3g0509
[33. contribute to physical growth and tissue regeneration.
(1) . C‘arbohydrates_t (2) Proteins
(3) Vitamins X (4) Munerals
'?"86% QEHDEOE SoBasn §ma‘e @2563(563& 8T S0 T
(1) ﬂ:o&awcﬂmJ . (2) éro‘oﬁéom
) (3) DeaDoSy Y Pz oleren
o 134. The movement occurred in [ndia agamst the British after the failure of Cripps dhplomacy
was
(I} Quit-India (@) Nou—co-operatnon
(3} SaltSatyagraha - (4) Champaran :
B TEg0 DI Sogd QERT0E S388%om G ESGios® #BAS e gSao
(1) && qodcse (2) 356 JoESe
(3} &3y Seguiso 4) Gorss
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135. The First World War occurred in the period
. 68 @Sos oiog sedn | .
(1) 1914 -1918 (2) 1939=1945 - (3) 1918-1923 (4) 1918- 1925

136. Monsoons occur between these latitudes approximately in the tropical region.

(1) 5°North - 5° South () 10°North - 10° South |
- (3) 15°North - 15° South - (4) 20°North- 20° South
=291 @*’oéoé" BoSTdarr. & OFTOTO ;Sacsg 2220 80HS TP e decéa‘coo ‘
(1) 5° egbo -5° G0 © L (2) 10° &880 - 10° 5800
(3) 15°ﬁe§60-15°c$§eao. ) 4) 20° &0 - 20° &0

137. Which of the followmg isnota mu1t1nat10na1 company of India?

(1) Tata motors ' @ Asian Paints
(3) Sundaram Fasteners (4) Ford motors
& 8od 8’ a,rdééra‘&)% Bocs(’() airoderd B0y ‘
(1) e B : @ anﬁaS 20008)
(3) sootto 388 - ® @«g 3:»@53 :

138. Whlch of the followmg basic concepts refers to the characteristics of the place‘?

(1) Situation (2)  History of the place
(3) Site : (4) Alltheabove

. Bod TSt 2.8 (Fod ofrod BOHER STOE ©oFsm
(1) %0%8 . 2) & Bddo ok, SO
(3)' BBFS» _ (4) B $Qosw

139, Who among the following was considered as the maker of meodern China?

(1) Sun-yet-Sen (2) Mao
(3) ChiyangKaishek . _ (4) YangLeichi .
wGodE B Jo DOD HOKBIL | a
(1) 35-Bos5-HS 2). Srs

' (3) DoSrof 36 (&) oSroR 6D
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140. In 1965, he was the Secretary General of the U.N.O. who convinced the two countries to
avoid a war between India and Pakistan. : ‘

(1) KofiAnnan . ~ (2) UThant

(3) Antonio Guterres ' (4) Trygvelie .

1965 &* s, 3"5@55@ S04 o?imgo 280%0F 9%BTolH a;?an)oi)f‘\’n 2Egoragd s
RGeS Spefate) o :
(1) & o5s | (2) o» grods

(3) w0l ITP HBES (4) (hed

141. Which of the folloWing rivers is called ‘Tsang;ﬁo’ in Tibet?

(1) Indus 2) Ganga  (3) Sutle] (4) Brahmaputra
800 TIS* BBES® ‘FofD 0 HHs Hosed 56 - -
(1) Bodd () doi - () 2BE () @iy

142. Which among the following is/are true. - ,
i) According to the National Census, every fourth person in India is an immigrant/

migrant. ‘ |
ii) - Rural-to-rural migration usually takes less than six months.
(1) @) only ' (2) (i) only

(3) . (1) and (i) (4) . None of the two
ol IS B/ BeSgBn \ |

) =8ad sy oS B50o rEE3ios” 58 TS $g8 Sob SO B N

i) (e @osre Kood) (Tab@ Fosrod Sod JHdo Frdwom ek Ive S

t‘z‘yoé.J‘ooo. :
(1) (D) S o (2) (i) SrE

(3) @) $bcso () . (4). D BoBSS® Do .

143. Which ofthe following .does not belong to ‘Fixed Capital’?

(1) Tools. . (2) Machines (3) Buildiﬂgs ‘(4) Raw materials |
8ol AS* PE Dépwd’ § Bos wodsw | o
(1) S0 (2) o%oEren - (3) Hlaren (4) S0d85H%
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144.

" comimittee appointed by the Government to examine the possibility of repealing

the Armed Forces Special Powers Act in Manipur.
(1) R.V.Jeevan Kumar Committee ~ (2) B_P. Jecvan Reddy Commmtce
(3) M.S. Loknath Committee ._ (4) M. Venkatachalam Committee

;33931.’3"56‘ P0G STo HBgE VhETo WD) g - B E S o od5Fos
4B890HTRE HLHE0 HoHIoDS DB |

(1) 5.2, 255 %o5rb 08 (2) B 255G 208
(3) 0%0.25. SETE DB (@) oHSBosirdoo E.d
Which of the following is not true regarding Rightto Informatidn Act.

145,

{1) The information seeker need not explain why he wants information. -
(2) 'Thereisnominal charge to get information.

(3) Theperson collecting the information is required to disclose who they are.

(4) Information canbe givenin official langunage.
Doy, $ETRS Sowohod 2b HeEgo FD..

(1) Hirerdo 50 358 dirTrdo 580t TTS DSBoT S wIDTo B
. (2) dSro Frodirad F0SFED Koo Do) wok0od.

(3) Bsrorod) H¥BeT S8 e ISE BDaHEY) Gokood.
@) ISrooR) whsE TAST RBCHNY),

146. Who among the following implemented Glasnost and Perestroika reforms in Russia?
' (1) Lenin ' (2) Mikhail Gorbachev
(3) Stalin ‘ : (4) Trotski
Byt MHS'Y, DO 0N H0%) Seen HLOBEDN 558
(1) BIS (2) ppond RGBS
(3) S (4) sV,
147. ‘Find out the wrongly matched pair.
(1) Sukarno-Egypt (2) Nehru-India
(3) Tito-Yugoslavia : (4) Kwame-Nkrumah - Kenya -
BAFT 2SEHEDS oD ool
(1) o867 - Sy | (2) I - RoBoST
(3) &B&° - SHAFIoT . (4) sg-ISEes - 3
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148. Which of the following incidents occurred earlier?
(1) Formation of League of Natlon
(2) Treaty of Versailles
| (3) Russian Revolution
(4) Formation United Nations Organisation

8o 2550dS Ti3es? w808 B30 woa;ﬁ&)oﬂ):é DoPatrd D67
(1) ooms 3208 QO‘J&JO

(2) S”ond) AT

(3) g 2950 -

(4) 'm§go°a3§ S8 domyen

149. This article of the Const1tut10n of India enshrines the rlght to hfe
08 Trargolios’y & wbESn $203 S8 Eé‘e’)o:ﬁaécoooﬁ _
(1) 21 2) 17 - (3) 15 . 4 45

150. According to the 2011 Census, the States with the highest and lowest population density in
India. '

(1) WestBengal, Arunachal Pradesh (@) Bihar Arunachal Pradesh

(3) Mabarashtra, Odisha . (4) Maharashtra, Jharkhand

2011 e 6§2Io D5E80 rESEFoes® CENALS odgoy adJold Ko U‘@JQD
(1) 3% Borrs, wherss DET (2) D56, ©HerdS HET

3) DTG, Wb , 4) Sodtorg, wgod

minjwinin}
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